EXAM 1 - MTH 122 SPRING 2011

MTH 122

4 February 2011

Instructor: Thomas Cuchta

Total Points: 100 ()
Name: ________________________


Read the following before starting the exam:

· Show all work, clearly and in order, if you want full credit. I reserve the right to take off points if I cannot see how you arrived at your answer (even if your final answer is correct).

· Justify your answers as much as possible to ensure full credit.

· Partial credit will be awarded for incomplete answers.

· Circle or otherwise indicate your final answers.

· Please keep your answers brief; be clear and to the point.

· Good luck!

You are required to do ONLY eight out of the following ten problems!

Check in the table below the problems you want me to grade -- if you check nothing I will grade the first seven problems. If you check more than 8, I will grade the first 8 checked.

	Problem Number
	Grade it?

	Problem 1
	

	Problem 2
	

	Problem 3
	

	Problem 4
	

	Problem 5
	

	Problem 6
	

	Problem 7
	

	Problem 8
	

	Problem 9
	

	Problem 10
	


1.)  Find the complement and supplement of the given angle.


a.) 30º

b.) 62º

c.) 11.521º

2.) Find the angle with least positive measure coterminal with the given angle.


a.) -40º


b.) 400º


c.) -321.5º

3.) The measures of two angles in a triangle are given. Find the measure of the third angle.


a.) 30º, 20º


b.) 51.21º, 12º


c.) 11.12º, 22.21º

4.) A house is 12 feet tall. Its shadow is 32 feet long at the same time the shadow of a 

nearby building is 200 feet long. Find the height of the building.

5.) Sketch the given angle [image: image1.png]


in standard position such that [image: image2.png]


 has the least possible positive measure, and the given point P is on the terminal side of [image: image3.png]


. Then, find the value of the six trigonometric functions for this [image: image4.png]


.


a.) P = (1,2)


b.) P = (-3,4)

6.) Determine the sign of the signs of the six trig functions given [image: image5.png]


.


a.) [image: image6.png]


=70º


b.) [image: image7.png]


=182º


c.) [image: image8.png]


=-90º

7.) Identify quadrant or possible quadrants of [image: image9.png]


 that satisfies the given conditions.

1. sin [image: image10.png]


 > 0 and cos [image: image11.png]


 > 0

2. cot [image: image12.png]


 > 0 and csc [image: image13.png]


 < 0

3. tan [image: image14.png]


 < 0 and cos [image: image15.png]


 < 0

8.) Prove the following statement: “All pairs of vertical angles are equal.”

